



St. Louis County, Minnesota

Date of Report: 12/14/2025 4:19:05 AM

General Details

 Parcel ID:
 270-0020-00810

 Document:
 Torrens - 1047189.0

Document Date: 09/13/2021

Legal Description Details

Plat Name: BREITUNG

SectionTownshipRangeLotBlock66215--

Description: LOT 8

Taxpayer Details

Taxpayer NameGRAY JOHN R & ANNA Rand Address:5899 W BRANCH RDMINNETRISTA MN 55364

Owner Details

Owner Name GRAY ANNA R
Owner Name GRAY JOHN R

Payable 2025 Tax Summary

2025 - Net Tax \$7,673.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$7,758.00

Current Tax Due (as of 12/13/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$3,879.00	2025 - 2nd Half Tax	\$3,879.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$3,879.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$4,072.95	
2025 - 1st Half Penalty	\$0.00	2025 - 2nd Half Penalty	\$193.95	Delinquent Tax		
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$4,072.95	2025 - Total Due	\$4,072.95	

Parcel Details

Property Address: 5792 CANFIELD BAY, TOWER MN

School District: 2142
Tax Increment District: Property/Homesteader: -

Assessment Details (2025 Payable 2026)										
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity			
151	0 - Non Homestead	\$228,800	\$238,400	\$467,200	\$0	\$0	-			
111	0 - Non Homestead	\$237,300	\$0	\$237,300	\$0	\$0	-			
	Total:	\$466,100	\$238,400	\$704,500	\$0	\$0	7045			





St. Louis County, Minnesota

Date of Report: 12/14/2025 4:19:05 AM

Land Details

Deeded Acres: 21.25 Waterfront: **VERMILION** Water Front Feet: 2925.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

		Improve	ement 1 C	Details (CABIN)	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
HOUSE	1974	77	6	920	-	LOG - LOG
Segment	Story	Width	Length	Area	Found	dation
BAS	1	1 10 20 200 FOUNDATION				
BAS	1	12	24	288	288 FOUNDATION	
BAS	1.5	12	24	288	FOUND	DATION
DK	1	4	9	36	POST ON	GROUND
DK	1	6	12	72	POST ON	GROUND
SP	1	8	24	192	FOUND	DATION
Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC
0.75 BATH	2 BEDROOM	MS	-		1	CENTRAL, GAS
		Improve	ment 2 Do	etails (CABIN	2)	

		Improve	ment 2 Do	etails (CABIN	2)	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
HOUSE	1974	46	0	460	U Quality / 0 Ft ²	CAB - CABIN
Segment	Story	Width	Length	Area	Founda	ation
BAS	1	10	14	140	WALKOUT B	ASEMENT
BAS	1	16	20	320	WALKOUT B	ASEMENT
DK	1	0	0	92	POST ON C	GROUND
DK	1	8	14	112	POST ON C	GROUND
Bath Count	Bedroom Cou	ınt	Room C	Count	Fireplace Count	HVAC
0.75 BATH	1 BEDROOM	1	-		-	CENTRAL, PROPANE

Improvement 3 Details (PONY BARN)									
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	1974	24	0	300	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1.2	12	20	240	POST ON GF	ROUND			

	Improvement 4 Details (SAUNA)										
li	mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
ı	SAUNA	1974	18	0	180	-	-				
	Segment	Story	Width	Length	n Area	Foundat	ion				
	BAS	1	10	18	180	FLOATING	SLAB				





St. Louis County, Minnesota

Date of Report: 12/14/2025 4:19:05 AM

		Improveme	ent 5 Deta	ils (BOATHOU	SF)				
Improvement Type	Year Built	•		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
BOAT HOUSE	1974	1,64	48	1,648	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	16	64	1,024	POST ON GR	ROUND			
BAS	1	24	26	624	POST ON GR	ROUND			
Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC			
-		Improven		tails (STORAGI					
Improvement Type	Year Built	•		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	1974	26	4	264	-	- -			
Segment Story Width Length Area Foundation									
BAS	1	12	22	264	POST ON GR	ROUND			
LT	1	12	22	264	POST ON G	ROUND			
		Improveme	ent 7 Deta	ils (WORKSHO	OP)				
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	1974	30	0	300	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	6	10	60	POST ON GR	ROUND			
BAS	1	12	20	240	POST ON G	ROUND			
		Improve	ment 8 De	tails (GAZEBO))				
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
GAZEBO	0	16	4	164	-	<u>-</u>			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	0	0	164	FLOATING	SLAB			
DKX	1	0	0	772	POST ON G	ROUND			
	Sale	s Reported	to the St.	Louis County	Auditor				
Sale Da	te		Purchase	Price	CRV	Number			
09/202	09/2021 \$704,000 245115			45115					
06/199	6	\$206.350 (This is part of	f a multi parcel sale	.) 1	09797			





St. Louis County, Minnesota

Date of Report: 12/14/2025 4:19:05 AM

		A	ssessment Histo	ry			
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
	151	\$232,500	\$223,000	\$455,500	\$0	\$0	-
2024 Payable 2025	111	\$237,300	\$0	\$237,300	\$0	\$0	-
	Tota	\$469,800	\$223,000	\$692,800	\$0	\$0	6,928.00
2023 Payable 2024	151	\$232,500	\$223,000	\$455,500	\$0	\$0	-
	111	\$237,300	\$0	\$237,300	\$0	\$0	-
	Total	\$469,800	\$223,000	\$692,800	\$0	\$0	6,928.00
	151	\$232,500	\$223,000	\$455,500	\$0	\$0	-
2022 Payable 2023	111	\$237,300	\$0	\$237,300	\$0	\$0	-
-	Total	\$469,800	\$223,000	\$692,800	\$0	\$0	6,928.00
	151	\$178,500	\$194,400	\$372,900	\$0	\$0	-
2021 Payable 2022	111	\$217,900	\$0	\$217,900	\$0	\$0	-
	Total	\$396,400	\$194,400	\$590,800	\$0	\$0	5,908.00
		1	Γax Detail Histor	у			·
		Special	Total Tax & Special		Taxable Build		
Tax Year	Tax	Assessments	Assessments	Taxable Land MV	MV	T	otal Taxable MV
2024	\$7,789.00	\$85.00	\$7,874.00	\$469,800	\$223,000		\$692,800
2023	\$8,213.00	\$85.00	\$8,298.00	\$469,800	\$223,000		\$692,800
2022	\$8,023.00	\$85.00	\$8,108.00	\$396,400	\$194,400		\$590,800

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.